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CLASSIFICATIoN OF ALCOHOLS
A | Classification based on the number o hydrogen atoms adachec/
0 the oarbon atom containfnz the hé{olrox;i[ group
/{ the numbgrs of b«/droqzn atoms__aticched to the carbon
atom bean‘ny The hqc/rwa{t group_arg three or two, it Is caled a
“primary_alcohol (1 )" [tn i priman/ alcohot sthe hydrosyl group i3
tiached to_a_primary (or terminal) carbon atom in the moltw[:llt &)
characterizec/ by ~CHa0H ] Iy it 13 one hydrogen ‘atom attcched B the
carken _atom bzqrinq Lhe _hydroxyl group it Is called “Secondary altobol
C2°)[In a 5econc/an/ aleobmt, the - OH group ¢35 on a Secondarq carbon
atom ; Ut Is_charact¢rized by > CHOH T ancl é¢ no hydrogen _g_f_vﬁm__fg.-._«
atlached {o the carbon atom bearing lhe hyclroxyt group, t & Called a
al’flrﬁgrdc/ alcopol (3°)"[In a tz""‘a"% alcohol ,the = OH Group i's ©n
a tertiary carbon - Lk is characterizecdd by > C-0rT
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Mono/»yduc altehols have onty Ong. hydrox‘yi gtoup pee molecule
__1present _tn thg altohol structure . l)/h/c/nc Qlcebols dlso catled
~...‘_G_,Lga:cl,s have two bydroxyl qrodps presgnt in the alcoho Sftu::t,tlf?_“_
—While tripydric_alcohols or triols have three bydroxy( groups present.
_|in_the Shructure of thg décobol-/’(‘lyhydu‘c atcohols or polyels have
—imote _than threx hydroayl groaps -




~{CH3CH,CHy OH - Propanct ( Menohydric _alkohol)

| Discuss The ,_Sozq@i'a_‘;y of alcohols bn water, 0rganic Solvents .
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| SOLUBILITY OF pLCOHOLS N INATER, ORGANIC SOLVENTS .

éSo(ubtug In_Water & [ower alcohols with up to three Carbon ato'rj

1en thedr molecyles are Soluble th quecter. because these. dower Qlcoholg
-{Qan ferm_hydrogen bonel ewith weter moleceles . The_water :otub;[,{},
|6f_alcohots decreases with ncreasing Felative molgcular mafs
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Socub:atq (n Orqanic S’o/vengo Atl mor)ohyc/r/c a/cohoLs are Soluéle

én organ:c so/vents The solubtaly o/ _simple alcohols. and _polyhyclric
alcohols 8 [argg[y clue to theer aszc{y o form h(yclrcyxn bonds _1w0ith

. |water molecules -

|Showy the three steps in the industrial manufactre of ethanol -
Agu‘ationsof reaction arg mandotory .

/ND US m/m /WHNZIFI)CszE OF .ET/MNOL _
Carbonyclrates Such as Starch are mafor_groups Of naturac
compounds (bat con be mede (o y:gld _ethanol by the b:ologl,‘COL/. 5
process _of fermentation - The biolog giceu catalysts, enzymes foung in

Yeast break down thg Carbofydrahz molecules Ento ¢ thanot tcg/ye 2
yleld of 75 %

STEP 1.0 The starch conta}niny matgrials énclucle molasses , potatees, Cereals,

#NC« ancl on ?Uo'mwy with mau fo 60°¢ FOr a_specific period of time
are comertec! tnto ‘maltose” by the é’nzymz dlastase eontatned tn the
malt -
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Carbohydrate water , ___/Maltose

STEP 2 & The maltose IS broken clown into Ylutose on addition of. east
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which contatns tbe enzymz ma(tc//se anc/ ac a tcrmperarure 044 /"‘
5% |

.Clz.f’/u.oz_:. ,‘f',_Hp,O watgase . RACeHip0e
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*S/[/ 30 7776 3lu605‘e at constan-t tempefatw'e of /‘)‘( /8 thgn converted|
into_alcohol by the engyme zyma

Ckrha.gmw > ACHs(Ha0F + 2C0a T
Glucose gthanol  Carbonliv)oside
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me_Zymase containecl also <n yeast:
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Propooe a Scheme for the conversion 0f /Jfopaﬂ‘z‘o‘ o PfOPOO-.?-OL'

ANSIANER
SCHEME

ISTEP 1 Oehqc/raﬁon o,t Propcm j-ol 1 pro,oene ’“5‘”‘7 CO”CM '
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| Since propene % assymetneed , 0n, _hydrolyjcb or aclelibon of 2water

u:;my o markqvnfkov /orucec/ure. PFO/Jan—.?-OL can be obtafnec/

H—— H +H oH H OH#H
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H — (': %:?-H + H,0 >H—C—"C"C-H+H-C—Ci"—C-H
(. | I

H—H=H Hrit. H—H-H

You woorlel actudlly get the 2 -prochicts ¢ Propgg- 1= ol Propan-2-ol

B'u( fatlowinj mark ovniKo v rule, Pmpan-Q-o( woulel be the
mafor product .




